SALCIOKE 12%
HEN [ OfSN M
400mg x 309 /8tA
=SA0ll= £400! H14

RES

M= slMg o §l0| ANS IMHZ =0 &Zsi2=
LSH0| ELEUC.

w
19
=
e
Hel
rr
ox
mg
to
Io
rot
4
Ei¥
mjo
Ik
lo
m
M
o
g
Kl
e
Hel
I
il
)
3
ox
rrl
OF
=)
N
k)
d
o
R

4. ZRIAUS D LM o1, AR HE = 2|20t 2 0|20 O] BHOF 510, 0| 20fl= B Z410[ =0
04 o

o ;
Y71 ol 2247t ULEZ RIEA| =25 &7|(B 0] 20| &7 |X| = 3em ZE) R SHAL.

5. = X|HO| U=X| ot ZR0i|= HIZ0]| 20| =2F Yo/t A2H SYR0| 20| === 2X[5H0f

1,000m?(10a)
2y MUy AFBE7| ol e
o o
7|A01YH EMYE M2 HE| = FE 0| 2K 400meS2e /10
(55) (], ZF7HH], 52U, O1FHES, 719fARE]) Y T e

140 | ofCior=2(0f



1. 22, = thE0| afet = 7tA El = 2247t e =, FotiRlol=
AFEOHX| ORYA2.
2.80f 22l B, HotiS U2 2 = Y=K0| 59| 23 271 0|YE =0l=
AFESHA| ORYA 2.
= HIEO0| 12X| Xo610] 28 = HIH0| 20|11 AR = It = S0 FV|= S
= et 01212 =0ll= A OFHAI.
4. et HIEO0| = M= AES TIoHA | 9feH0] BIZOl| E2| 7Lt 22| =50 =t

o= Z|X| ULZ ZO|SHIAL.

— —

5. BUY| 3 B} IILE 8 Bi2| £550] SO2 27 Mt ol 20| FZ 320l=
oRllo] Q247 UOL| Y FA| 1-2cIENNK SE Bl FAAIL.

6. &I 7| Y20f| 0] LIEfLF= 27t ALt d=0| ZHE0 [t 2|55
o
1:I|'

9L ol 280l QLI

7.0 SfRll= MR 2 [ AFEohs EYMEY MAMZA HHEA] 0] 22 0|0
AFEBHOF 220 2P RLICE.

8. 0| ofKfli= SE(7|H01 )0l ALEBIE=S (0] U= AMZA] 02120 AR

A0l ofsiie] P27t AUOL| F2I SHIAIL.

HEH | 141





